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=15 g teIn(e £ D+ In2
it LA
Jxarcsinxg—ﬁ— 1—2a%, —1<<x<<O
F(x) =
T x o
11 5 e’+1+1 In(e* +1) +1n2, 0<<a<1

(19) & Hal+ 3y —22=0/(x— D"+ y* = 1% D 5 l{HE5 .

D 22 < 2"+ y"<4; D,:2"+ 1y <2x

w1 :H | 2 4+ y* — 22 | dady = Jf(xz + 3" — 22)dady JrJJ(Zx*fz — vy )dxdy
D Dl DZ

= Jj (2 4+ y* — 2x)dady Jrﬂ(Zx —2F — yH)dady
5,

D~DZ

= H(xz + v* —2x)dxdy + Zﬂ(ZI — 2 — yH)dady
D D,

o . "z “2c0s0
= J d(i’J (r* — 2rcos@®) rdr + ZJ _ ) d@J (2rcosf — r*)rdr

= 97
(20) & CBPTRSEAMLAT A AR A JF AT R A
(C—B)'TA* = E

JiIr LA
1 0 0 07" 1 0 0 0
2 1 0 0 —2 1 0 0
Al=[(C—B)"]!' = =
32 1 0 1 —2 1 0
4 3 2 1 0 1 —2 1
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(6 43
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(21) ﬁﬁ "VX_LA = (a] o 0 a|)9%g‘§ﬁfiéﬂm = ﬁ E‘J*H@Tﬁ.

11 1 11 11 1 11
, 01 —1 2 11 01 —1 2 1
Aai p = | — :
2 3 a+2 4 [ b+5 00 atl 0 b+2
35 1 a+8' 5 00 0 a+1' 0

@) ﬂxﬁ‘éi'%ﬂ?ﬁi 00030, E"Jéﬂ%‘@éﬂ% = Ax = ﬂaﬁﬁﬁ: & r(A) < r(A ﬁ) =
a+1=0

S a=—1,b#A—2. 45
bt2=o ¢ 7 7
(2) ﬁﬁE%%ﬁE O +s0 03 504 E‘J?}Zﬁ?ﬂ%ﬁi’%%fﬁﬂﬁg & Ax = ﬂﬁﬂﬁgﬁﬁ; & r(A) =
r(Aip =42a+1#40 a#4—1. 74
(3) pRERR M ar a0 -a; WEMAGHERRAME — © Ax = BHLF Z 1Mt © r(A)
, at+1=0
=r(Aip <4< Sa=—1,b=—2.
b+2=0

I, — R A
Bp=(—2¢c+cDa + U+ — 200 + ca;s + ca
Hor ey e, LR HEL (1343
(22) & WARX.Y) BIRM 4 IFEZR N.036" 6"20) s o= 0 H1 X MY A0 57 H
X ~ N(@0,6°).Y ~ N(0,6°).
F,(2) = P{Z<z)=P{max(| X |, | Y |) <z}
=Pl X[<=z [YI<z) =P X[<zP{|Y|<z) (443
M << OB, F,(2) = P((J) =0 (6 43
M 2> 00,F () = P{—2<< X <z2}P{—2<<Y <z}
= (Fx(2) — Fx(—2)(Fy(2) — Fy(—=2))

= (P(Z2) —D(—EN(D(E) —p(—2)) = 2o(E) —1)?
o o o o o

[LeaE) D). =0
o o o

W f2() :1 (13 4
0, 20
(23) 8 X MWATHEHUE N 1,2,3.4. 2 A, = (F i kgEEH P B, i =1.2.3,4, B4
LI v (341
P{(X =1} = P(A) = 0.9
P{X =2} = P(A,A,) = P(A)P(A,) = 0.09 (54
P{X =3} = P(A,A,A,) = P(A)P(A,)P(A,) = 0.009 (749
P{X =4} = P(A/A,AA, U AAAA)
— P(A,A,A,) = P(A)P(A)P(A,) = 0.001 949
BY X 43 Ak
X1 2 3 1 .
p 0.9 0,09 0.009  0.001
EX =1X0.94+2X0.094+3X0.00944X0.001 =1.111 (13 41
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